Particles 2

Choose the appropriate particle for each blank. If no particle is possible, choose X.

BEENZ, £2 () HYETH
HOFINT, FFEENT-SEA () WETH,
ANAEE AT O ) wEbe () TS
O T AF, KEE () BV ET,

720 ( ) T/N—= R TRARTEEHNE L L,
fEAZWTWDSFERPESH W () BEd,
SRERICILHIA ( ) T=A&E LEHATLED,
TH1IOHIZE® () IT&EE LT

S5 VAE L
o. B B Jm  OTETHHEA () FLEEAD

O NV A WN PR

10. U FRAIZEARDORFZOFAT L, T, EEELAE ( ) BRORFEOFZAL 2B

DEHFATL,
11. 73— FCHtZEWE L=, 2NidA () BEnE Lz L,
12. JKETHEERLET, LAY () HEVBRAEEA,
13. "7 VORI T —SAEEEZRV ELIEL, B, VSA ( ) RV FE LT,



MIT OpenCourseWare
http://ocw.mit.edu

21G.501 /21G.551 Japenese |
Fall 2012

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.



http://ocw.mit.edu
http://ocw.mit.edu/terms



